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2 Putting out flames after use is one of the laboratory rules, state three other laboratory rules.
Do mok pat er drinwk i 4Er  (ab. (3mrks)
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3. List two differences between temporary physical change and permanent chemical change.
(2mrks)
4. The set up below was used to study some properties of air
Moist iron wool

Test tube
water
beaker

State and explain two observations that would be made at the end of the experiment.
(4mks) '
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5. The table below gives information about jons of P and Y

Ton p* e
Electron arrangement | 2.8 2.8.8
Number of Neutrons | 12 16
a) Write the electron configuration for the atom of '>/ (1mk)
28 b
b) How many protons are there in the nucleus of (2mks)
®P q
@Y g
(c) Write the formvi&la Qf the compound formed when P and Y reacts (2mks)
ke 8

- Py





[image: image2.jpg]6. Diamond and graphite are allotropes of carbon.
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The diagram below is a set up for the laboratory preparation of oxygen gas.

Water

(i) Name gas F
D gy
(ii) At the end of the experiment, the solution in the round bottomed flask was found to be

a strong base. Explain why this was so 2mrks
Scam.i Pvmpm‘Ao );\qou»ob withh  waker h et (zmrks)

(1mrk)
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(iii)Which property of gas F makes it be collected by the method used in the set-up?(1mrk)
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iv)Give one industrial use of gas F 1mrk
O e s e g GOl (1mrk)

biet im espitats  dor  pubpnb  wsith \w\‘w\‘ﬁ.i‘r\& &-a.gmu\h:&,

n orbor  coamct-
8. Oxy&n exists naturally as isotopes of mass number 16, 17 and 18 in the ratio 96:2:2 respectively.

Calculate its R.AM. (3 mrks)
lox U "Tx2 tEx L
wo (00 BT
163 + 0-3U + 0-36 = RAM = 4972

9. The grid given below represents part of the periodic table. Study it and answer the questions that
follow. The letters are not the actual symbols of the elements.
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10. The following is a cooling curve of a certain sub

Tem (°C)

(2mrks)

(a) Is this a pure or impure substance? Explain
ocLurs ub a ran&p o4
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(b) Explain using kinetic theory what happens in region A (2mrks)
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11.The following is a list of pH values of some substance:

Substance M N v X z
pH ) 10.6 7.2 13.2 59 d I‘1.5
Identify:
(i) Strongacid  “Z (1mrk)
(ii)Weak b?se [ - (1mrk)

12. Briefly explain the following:

(a) Alkaline earth metals are generally less reactive than-alkali metals. (2mrks)
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(b) Though sodium and aluminum are in the same period and are both metals, aluminum is a better

conductor of electricity.
(2mrks)
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(i) What name is given to the family of elements to which A and C belong? (1 mrk)
Hoble Gas
(ii) Write the chemical formula of the sulphate of element D. (1 mrk)
59,
(iii ) Which letter represents the most reactive (2mrks)
(a) Metal v
(b) Non-metal E
(iv) Select one element that belongs to period 4. (Imrk).
g™ '
(v) Explain why the Ionic radius of element E is bigger than the atomic radius. (2mrks)
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(vi) The electron configuration of a divalent anion of element N is 2.8.8. Indicate the position of
(1mrk)

v

element N on the periodic table drawn above.
(vii) How do the atomic radii of I and C compare. Explain. (2mrks)
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(vii) Explain the tl‘B{ld in the 1 jonization energies of the elements J, Tand L. (Imrk)
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[image: image5.jpg]13. Two papers A and B were placed at different levels of a non-luminous flame. Paper A was

placed at the lowest part of the flame while B was placed at the tip.

(a) Indicate below the observations made on each paper. (2mrks)
Paper A Paper B
Explain the observations made A. - 1mrk
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14. Balance the following equations. Slame
NaCl (aq)+ NaOCl(aq) + H20(1) QNW w)

i. Cl () +)NaOH (aq)

ii. Cla(g) + KOH(ag) ——> KCl(aq) +KCIOs(aq) + H20() (o)

jiiFe Cl(aq) + Cla( g) ——* ZFeClsaq) é mrc)

iv. Mg(s) + Cu SO4(aq) —> MgS0s(aq) + Cu(s) Q mre)

15. You are provided with water, lead carbonate, dilute nitric (V) acid and solid sodium chloride.
sample of lead chloride.
(3 mrks)

Descn'(lj in Plzry clear steps l}ow /\31101{1 would prepare /h; /(J f (N )
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16. The set up below was used to obtain a sample of iron.
Carbon, Excess Iron (I1) oxide

Oxygen

1

Heat  Heat

i) Write two equations for the reaction which occur in the combustion tube. (2mks)
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17. The diagram below shows a set up which was used by a student to investigate the effect of electricity on

===
3 -
Steel pin——S=——gl
Boiling tube
Lead iodide
molten lead (I1) iodide. Heat
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(c) Write equations to show the reaction taking place:
(i) At the cathode.

Poty raes — Phiy
(ii) at the anode

(Imrk)

(1mrk)
2L —> I(j) I

18. Write balanced equations for the following reactions: (8mrks)

(a)Calcium carbonate and hydrochloric acid.
Cdco_—; t2He, —5 (q ), + €9 F W, 0
(b)Magnesium and Sulphuric (V1) acid.
MQ thso, —» mgSso, + H, &)
OR )

(c)Copper (I1)Oxide and Nitric (V)acid.
CoO + o,

> Co™lo, + W, O

(d)Sodium Hydroxide solution and Hydrochloric Acid.

MaOH b Hc, —7 Nacl 4 M0

three .
19. State &wo applications of carbon (iv) oxide
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